1977 43T RHE 3]
fOx)=sinx fOX)=cosx FOK)==sinx O ==cosx @) =sinx="fO(x)
m#zEASKEEE LT, O (x)=cosx, ™2 (x)==sinx, f™D(x)=—cosx, f“™(x)=sinx T 3.

g()=xf "D (x), h()=FP(x) & L. y=9(x), y=h(x) DEAP O xJEFEZE, p L5 &
n=4m-30 & =

g(x) =xsinx, h(x)=cosx g'(x) =sinx + xcosx, h'(x) =—sinx
g(p)=h(p) LY psinp=cosp ..g'(p)-h’(p)=—sin® p— psin pcosp=—sin® p—cos’ p=—1
n=4m-2mn ¢ =

g(x) =xcosx, h(x)=-sinx  g'(X) =cosx — xsinx, h'(x) =—cosx
g(p)=h(p) LY pcosp=—=sinp ..g'(p)-h'(p)=—cos® p+ pcospsin p=—cos’ p—sin® p=—1
n=4m-1m& =

g(x) =—xsinx, h(x)=—cosx g'(X) =—sin x—xcosx, h'(xX) =sin x
g(p)=h(p) L v psinp=cosp ..g'(p)-h’(p)=-sin® p— psin pcosp=—sin® p—cos’ p=—1
n=4amo & x

g(x) =—xcosx, h(x)=sinx g'(X) =—cosx + xsin x, h’(x) =cosx

g(p)=h(p) Lv pcosp=-sinp ..g'(p)-h'(p)=—cos® p+ pcospsin p=—cos’ p—sin® p=—1
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